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When should a Product Owner update the Product Backlog?
Response:

A. Only during Sprint Planning

B. Continuously, as needed to keep it relevant and up to date
C. Only after the stakeholders approve changes

D. Once a month

Answer: B

As a Product Owner, everyone at the organisation must respect your opinion. However, one senior
stakeholder has come to you with a very strong idea about how the product should be changed to meet
the customers needs. This stakeholder has minimal contact with the users of the product and you do not
agree with their idea.

How should you handle this stakeholder's opinion?

(choose the best answer)

Response:

A. Work with them to ensure their opinion is included in the Product Backlog.

B. Listen politely, and when necessary, involve them in discussions to gather their opinion.

C. Ignore them. They don't represent any form of stakeholder to your product.

D. Ask them to run a workshop with the Developers on their idea to see what the Developers think.

Answer: B

Which of the following best describes stakeholders in Scrum?
Response:

A. Only customers who use the product

B. Only internal team members

C. Anyone who is impacted by the product and interested in its success
D. Only senior management
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Answer: C

What should a Development Team do if they identify a new task that needs to be done during a Sprint
but was not initially included in the Sprint Backlog?
Response:

A. Add it to the Product Backlog

B. Immediately work on it and update the Sprint Backlog

C. Seek approval from the Product Owner before proceeding
D. Delay the task until the next Sprint Planning

Answer: B

How does the Product Backlog help the Scrum Team in making decisions about what to work on next?
Response:

A. It acts as a detailed project plan

B. It outlines all completed work

C. It prioritizes work based on value, providing clear guidance on what to do next
D. It assigns tasks to specific team members

Answer: C

Who is ultimately accountable for the content, availability, and ordering of the Product Backlog in
Scrum?
Response:

A. The Development Team
B. The Product Owner

C. The Scrum Master

D. The Stakeholders

Answer: B
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If a Product Backlog item (PBI) does not meet the Definition of Done at the end of a Sprint, what should
happen to it?
Response:

A. It is removed from the Product Backlog
B. It is re-prioritized by the Product Owner
C. It is moved to the next Sprint as is

D. It is split into smaller items

Answer: B

During a recent Sprint Review, you have identified a new area of value that the organisation could
exploit. You know this will need to be a separate product, but it is likely that your current team would
work on both products at once. Which of the following is true?

(choose the best answer)

Response:

A. The Scrum Team could split into two Scrum Teams, with each working on one of the products.
B. The Scrum Team would work from one Product Backlog i.e. both products in the same one.

C. There must be a different Product Owner for each product.

D. The Scrum Team would work on two Sprint Goals per Sprint i.e. one for each product.

Answer: A

Which Scrum role is primarily responsible for ensuring that the Product Backlog is transparent and
understood?
Response:

A. Scrum Master

B. Product Owner

C. Development Team
D. Stakeholders

Answer: B

Vigit us at: https://www.certswar rior .com/exam/pspbm-skills



Your product is in trouble. To remedy it, the Product Owner wishes to have two Product Goals so that

progress can be made on two things at once. What are the likely impacts of this decision?
(choose the best two answers)
Response:

A. The Product Backlog will be less transparent.

B. Progress towards both Product Goals will be slower.
C. The Product Backlog will become smaller.

D. The stakeholders will receive new functionality faster.

Answer: A,B
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